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1.  Match the following:

Mineral
A. Calcium

B. Phosphorus

C. Iodine
D. Iron
A
3
1
1
3

oo T

NN W R o

C
2
2
3
1

e. Answer not known

QUT(HSHHIS:

SIS 2 _LILSH6N

A. smeodlwd

B. umerdugerd

C. oBwmgest

D. 8mwys s58
A B

a. 3 1

b. 1 3

C. 1 2

d. 3 2

e.

C
2
2
3
1

allewL  OFflwaisdensv

2. Match the following:

Bacterial Diseases

B
3
2
2

1

A. Cholera
B. Pneumonia
C. Typhoid
D. Tetanus
A
a 2
b. 1
C. 3
d 3
e.

NP WER A

Answer not known
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Deficiency Disease
1. Osteomalatia

2. Cretinism

3. Rickets

4. Anaemia

NN NN,

Gomuisel

1. &eroGuimoGeodlwim
2. @i geiabd

3. M&6lsLerd

4. Q155 Gosmens

Ll

Mode of transmission

1. Contaminated food or water

2. Contaminated water

3. inhalation of airborne droplet from sneeze or cough.
4. Contamination of wounds with the bacteria

il |
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QUTHSHHIH:

ursleflwim Grruisert ugeyld (Lpemm

A. smeugm . QIFHSHIOTHT 26016 DIGLVH! [HiT

B. HGwmeflwim 2. SIFSHIHIOTET BT

C. ewLumuip 3. ®mwed wBBID Hibweder Burgd GeuefliLBL STHBEI

SHlouenenHemeN  FaUTd 5 gH6e0

D. QL Lererd 4. undleNwTdoeMenmed SHTHBILLL  SHTUIBIS6IT
A B C D

a 2 3 1 4

b. 1 2 3 4

C. 3 2 1 4

d. 3 1 2 4

e. alewL OFflwealsdenev

3. Which of the following is to refract the light that enters the eyes?

a. Sclera b. conjunctiva c. Cornea

d. Iris e. Answer not known

LedTeu(hHeUaTeUBMIeT 615 HemIbEhdHG6T HIWWD eeflenwl afleudevenL wWF QFuIsBg?
a. ewdlefym b. ®emiegmigeur C. seufiuwm

d. sgflerd e. alowL GFNuwalsvensv

4. Which of the following is a watery fluid that is present in the area between the lens and
the cornea?
a. Tear b. Vitreous Humour c. Aqueous Humour
d. Extracellular fluid e. Answer not known
Ueiteuheuaeumpien 611 allNGleuemILIL cuSHIBGD (cornea), Oeveiisis@l Sew Gwr [BiFbLiusiten
B0 FHFeuon@L?
a. SeuTemiT b. el fuwed Hyeud C. SBG6UeD HFeuld
d. GgevGeueild &yed e. alewL OxNwealevenev

5. Which is the only invertebrate that is capable of emotion, empathy cognitive function,
self awareness, personality and even relationships with humans?
a. Star fish b. Octopus c. Balanoglossus

d. Dolphin e. Answer not known

o ewit&d, SAANPLILWITa], SLEHeD, DBUTBBED, SHNHHEEID LOBMILD L6 SHTHGIHL GO
Ty Cureip uewiLsmend OCaTeni @Gy (wWaHIGHTenT SBm o ulfl e1g?

a. pLaSHT  Lei b. @ &GLmLeD C. ueBaalevmeryerd

d. LmeoLfes e. alewL OFflwaledenev

6.  What is the binominal name of State bird of Tamil Nadu?

a. Chalcophaps Indica b. Panthera tigris c. Pavo cristatus
d. Corvus splendens. e. Answer not known

SLODBHTL 96  LOMHlevL Lpeneuuiler E(mHOFTBOILILIT 6T6iren?

a. gmeoBamumierd Eeurig & b. ureligyT e iflerd c. utGeur &liflerd@LL6r0
d. &nialed QLEVETOIL 6BTerd e. alewL OxfNwealedenew

7. Which is the largest salivary gland in human beings?

a. Sublingual glands b. Submaxillary glands c. Parotid glands

d. Tonsil e. Answer not known

el &HTHeMe0 TG WsUEUfw o 1ODBTEF &Il eg?

a. preugd &yul b. stewL&F gyl c. Gwevemtentg &yl
d. Lmedled e. alewL OxfNwaledenew
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8.  Who was known as the father of Gastric Physiology?

a. Joseph Lister b. John Hunter c. William Beaumont
d. Christian Bernard e. Answer not known

@englienL FmT o L BeFwelwedar FHbHems eer SPlwLGueuT wmT?

a. Gerall eJerdLiT b. et emest LT C. aflebedlund LNuyLomenstl
d. @pferdiguiest QuitemmiL e. alewL QFfwalsdensv

9.  Match the following:
A. World health day 1. 1st December
B. World Malaria Day 2.7t April
C. World AIDS day 3. 25t April
D. World Anti-Tuberculosis Day 4. 24t March
A B C D
a. 2 4
b. 2 3
C. 3 2
d 1 2
e. Answer not known
CUIT(HSHSI:
A. 2 03 HSTHM Hleold
B. 2 sva wGsuflur gleod
C. 2 o el 60 FHeorld
D. o ovs s1s@pmul ged
A B C
a 2 4 1
b. 2 3 1
C. 3 2 1
d 3
e.

3
4
4
4

W R Rk

lp&Lur 1
gugev 7
gugey 25
g 24

P QNI —

R |

1 2
allewL  OFflwaiedensv

10.  Match the following;:

Disease Causative organism

A. Common cold 1. Myxovirus

B. Influenza 2. Rhino virus

C. Tuberculosis 3. Rubeola virus

D. Measles 4. Mycobacterium
A
2
1
3
1
e. Answer not known

QUTHSHHIH:
Gl Gpmuids  &myevol

A. gngmyeor Fefl 1. emwsBerom emauyerd
B. e .Lempuwiesiam 2. oyGeurm  emauyerd
C. sre@prul 3. apLIGWITELT emeUFerd
D. s Libeno 4

o op

W N~ O
NSO N
NN W W

. emwBsmunsefuwin
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A B C D
a 2 1 4 3
b. 1 2 4 3
C. 3 1 4 2
d. 1 3 4 2
e. alewL Oxfweailedensv

11.  Match the following:
Disease
A. Mumps
B. Chicken pox
C. Diptheria
D. Whooping cough

A B C D
a. 3 2 4 1
b. 2 3 4 1
C. 1 3 4 2
d. 3 1 4 2
e. Answer not known
QUTHSHHIB
Gpmul
A. QUGG aimid
B. dleitesnbento
C. . .0gflwur
D. sd@eunet ©)(moed

A B C D
a. 3 2 4 1
b. 2 3 4 1
C. 1 3 4 2
d. 3 1 4 2
e. alemL OFfwaisoensv

12.  Chikungunya is caused by
a. Single stranded RNA virus
c. Single strand DNA virus
e. Answer not known
FeGengelwn eeip GhTuwmerg
a. @ieos B RNA eveuyerd
c. oo @ DNA ensugerd
e. alemL OFfluaisdensv

Causative organism
1. Bordetalla pertusis
2. Varicella Zoster

3. Myxovirus

4. Cornyebacterium

Gpmruiss sy el

1. GumTELGL6eveur GLITHH 6rd
2. aumflegsveom GeromerdL T

3. anlodHBFTenauyerd

4. snireiumlefuib

b. Double stranded RNA virus
d. Double strand DNA virus

S0 GBUBSBHILGEBSI.
b. @riem. @enp RNA eneugerd
d. @i @enp DNA eweuyerd

13.  Which of the following is known as break bone fever?

a. Bird flu b. Swine flu c. Chikungunya
d. Dengue e. Answer not known

LedTeu(meueTeuBmIeT 61ghl eTelib] (WM™ STUIFF60 61} SIS SLILBSIBSHI?
a. UBeneUsHSTUIFF60 b. uséamuiiFaeo c. dldbaanGeiwm
d. G e. alenL QxfNwelsdenev
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14.  Match the following:

Disease

A. Swine flu

B. Avian flu

C. Genital warts

D. Genital Herpes
A B

a. 3 4

b. 4 3

C. 3 1

d 4 1

e. Answer not known

QUT(HSHHIH:

Gpmul

A. LS SSTUIEFFEO

B. usemeussTUIFFED

C. Upiypinied GQsmliend

D. Usiiypitnied Gamimiierd
A B C

3

4

a.
b.
C. 3
d
e.

Wk R R A

— W

1
1
4
. 4 1 3
alenL  OFfluialsoensv
15.  Match the following:
Diseases
A. Amoebic dysentery
B. Malaria
C. Anthrax

D. Foot and mouth disease

A B C
2 1 4
1 2 4
3 2 4
2 3 4
e. Answer not known

QUT(HSHHIS:
Gpmuisel

A. 215108 £506ug)
B. wGeuflwim

C. aubgHrmeen
D.

S

A B
a 2 1 4
b. 1 2 4
C. 3 2 4
d 4
e

C

. 2 3
. allewL Gafluiaisbenso
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aUTUWI LOBE@ID &Te0d G6enb GCpmul

Causative organism

1. Human Papilloma virus
2. Herpes simplex virus

3. Influenza virus HiN;

4. Influenza virus HsN1

NN NN

Gpmuiss sy emni

1. wellg umIGeomoT emeuFerd

2. Gammiierd FblIGenderd emeugerd
3. ®eepwetam eneuyerd HiNj.

4. ®eepweram emeugerd HsN1

NN NN

Microorganism
1. Plasmodium

2. Entamoeba histolytica

3. Apthovirus
4. Bacillus

== Wwd

mlewThIulflsert
1. MNemmerd@Lomiguib

. GTEWTLLSLIT Q56T Mem6VI &It

2
3. aIGxTemeugerd
4. Budleveverd

D

= = W W
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16.

17.

18.

19.

6 | Page

When was HIV first recognized in the world?
a. 1975 b. 1978

d. 1984 e. Answer not known

o aHFH (WHer waedsd HIV eiGurg sememnyiii L g?

a. 1975 b. 1978 c. 1981
d. 1984 e. alewL Oz flwalevensy

c. 1981

Who coined the term vaccine?

a. Edward Jenner b. Louis pasteur

d. Dr. Donald e. Answer not known
"Bousdleir (Vaccine)” etaiip QFmevenev (LpeTGIDTIAHSHEUT WITT?
b. suruierd wmUIerOLIT

e. alenL OFflaisoensv

c. Jonas salk

a. elleuTlh GegestedtT C. Bxmeiterd gmeLd

d. Dr. QLmemev®

Which of the following produces antibodies during bacterial and viral infections?
a. Monocytes b. Lymphocytes c. Eosinophils

d. Basophils e. Answer not known
UeTau(heusdiouBmiell  61&h  emeugerd  WMmId  umdleflum
THMUGLITHEDET 2 (HeUTE S 6TB60T?

a. CorGemmenaL_(Ha6iT b. &db." . BurenaL [BaeiT

d. GuBgm. . Nevmelt e. alenL G flwalsdenev

Grmuig OHTBBIFH6S 60T

c. w&Geurr. .06l

Match the following:

WBC Percentage

A. Neutrophils 1. 60 - 65%

B. Eosinophils 2.2-3%

C. Basophils 3.0.5-1.0%

D. Lymphocytes 4.20-25%

E. Monocytes 5.5-6%
A B C D E

a. 1 3 2 4 5

b. 1 5 P 4 3

C. 1 2 3 4 5

d. 1 2 5 4 3

e. Answer not known

QUT(HSHIS:

WBC FSHaimpld

A. Pyl Gym. . Ne0ae6it 1. 60 - 65%

B. #dGe.".N60a61T 2.2-3%

C. GuBam. . Nevma 3.05-1.0%

D. &0ib. . Burengl seit 4.20-25%

E. GurGamensal &eit 5.5-6%
A B C D E

a 1 3 2 4 5

b. 1 5 2 4 3

C. 1 2 3 4 5

d. 1 2 5 4 3

e. alewL OFfwealedensv
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20.

21.

22.

23.

24.

25.

26.

7 | Page

Which of the following number increases during conditions of allergy and parasitic
infections?

a. Neutrophils b. Basophils c. Eosinophils

d. Monocytes e. Answer not known

LNe3TeU(HeUGITOUBMIET  THEDIEWL UL cTenTenlbend L (Hewlenid OHTBM OBBID  @eleuTenld  eBLBLD
Gurgl s fsdnBg?

a. Byl Gy, . N60a®e6l b. GuBzm. . Nevme6l c. mfGer. . Ne0b6i

d. GurGeimenaL [BHabeir e. alewL OHfNwaleenew

Increase in the number of leukocytes is called as

a. Leucocytosis b. Leukopenia c. Leukopoiesis

d. Leukoplakia e. Answer not known

Or55 OeusTene SiemIbH6Nel 6lewTentbme DIF g aH6e0 oIl DIMLSHBLILIB BB
a. eVl &CamengL_ GLrdlerd b. 60uysBamieiwim C. 6dluysBasmBumuidlend

d. euys@smilenmaalwim e. alewL OQFfwalsdensv

The right atrium receives deoxygenated blood from different part of the body through

the main veins

a. Superior vena cava b. Inferior vena cava c. Coronary sinus

d. All of these e. Answer not known

2 Lelar UeLGoum uTemiSeTel(BhIID NG GHMBHS BISHHHHMT (PoHBHU  FenJSHerTet
epeuld  auevgl Sfledlen CUBISIBSI.

a. CumeumehdFleny b. &b GumehFeny c. sC@ymefl emFeTerd

d. @meu SMTSHBHID e. ol Ggflwelsvensy

Which of the following valve is located between the right auricle and right ventricle?
a. Tricuspid valve b. Bicuspid valve c. Semilunar value

d. Mitral valve e. Answer not known

LeiTeu(hld eUT6V|BEH6NT 618 660l flddle wBmID euevd Gleuewi fledleTdseEndsE vl uiuied
SIMLOHRHI6TENSHI?

a. cpalHD 6UT6L6Y b. rfis eumebay C. SIMTFFHSIT 6UT6L6

d. Bilged eumebey e. alenL OQxNwealevensv

Give an example of Exocrine glands.

a. Salivary glands b. Mammary glands c. Sweat glands

d. All of these e. Answer not known

BTN SILILNSEDHEHE THHSETB H(HH?

a. 2 1ODKHT &JLIse b. umed agrnlemel c. allwirenel &ILINH6r
d. @mea SMIHHID e. alew OHfwaledenew

What is the shape of pituitary gland?

a. Pear shape b. Bean shape c. pea shape

d. Triangle shape e. Answer not known

Wl Lfl syiniulest augeuld eresent?

a. CGuiflssmul angeud b. siumyalans algeaibd C. ULLmewll augalDd
d. (p&Bsment augeuld e. alewL OFfwalsdensv

The anterior lobe of pituitary gland is called as .
a. Adenohypophysis b. Neurohypophysis c. Epiphysis
d. Diaphysis e. Answer not known
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27.

28.

29.

30.

31.

Weugl LM syodlullesr (eIl 6160 DIMIDSHBLILIBSIBEHI?
a. olyCamenaniGUTemLISorD b. BuCrrenamiBurenLiFlerd c. e femudlerd
d. enLwmenudlerd e. alewL OFfwalsdensv

Diabetes insipidus caused by deficiency of

a. Oxytocin b. Vasopressin c. Insulin
d. Adrenaline e. Answer not known

Lwimuesd BardiLerd GEMBUTLLT60 gBLBS M.

a. &G THen b. eaun@amiyervenSes C. Bageden
d. o feredest e. alenL Gz flwalsdensv

Which of the following helps in the contraction of the smooth muscles of uterus at the
time of child birth and milk Ejection gland after child birth?
a. Oxytocin b. prolactin c. Vasopressin

d. Adrenaline e. Answer not known

eiteupeoteuBmien  61g  Ouewiseflel  GLHSIGUBNeET  Curgdl  S@HUMUMUW  F(HHS WD
GLHSLICUBBISEG UBE uted agliiseisd uTened GeuefGUBBIUSBGSWD STTEOILOTSBSI?

a. o 5FCL T b. yGymevrssiesst c. aunGamiydlen

d. o Mereder e. alewL QFfwalsdensv

Which of the following is also known as personality hormone?

a. Epinephrine b. Norepinephrine c. Thyroxine
d. Parathormone e. Answer not known

LelTeu(hHeuaToUBmIeT 615 ~ShehenlD ammTGLoTeT 6IempID SenpSSLILGEBESI?

a. 690,  .Liflesr b. BT eni16m. .Cifler C. MSHTTHF 6
d. umyrgnir@iomest e. allowL Ggflwelsdensy

The excess secretion of the thyroid hormones which leads to .
a. Grave's disease b. Cretinism c. Christmas disease

d. Cushing's disease e. Answer not known
oM anmiCureaiselear SiHafldhs STl STIeILOTS 2 _MILTEHBSI.
a. #Graler GmTUl b. & yeisid c. diflerooerd BBl
d. @asdm Gpmul e. alewL QFflwaledensv
Match the following:
List - 1 List - II
A. Alpha cell 1. Frequent urination
B. Beta Cell 2. Increase in appetite
C. Polyuria 3. Increased thirst
D. Polydipsia 4. Insulin
E. Polyphagia 5. Glucagon
A B C D E
a 4 5 3 2 1
b. 1 2 3 4 5
C. 5 4 1 3 2
d 4 3 2 1 5
e. Answer not known
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32.

33.

QUTHSHHIH:
ugs — I ugs — 11

A. o160 .uT GFed 1. 9lpssly FBIHT B0EHH0
B. diLm Gaed 2. 9IFs uF IBHBHO
C. ureQuyfuwm 3. QIFHB FHTHD 61BHBHE0
D. ureSigridluim 4. BeS1g6Vl6s
E. umeld. .Gugdwir 5. &6EnhHCHTHT6HT
A B C D E
a. 4 5 3 2 1
b. 1 2 3 4 5
C. 5 4 1 3 2
d. 4 3 2 1 5
e. alewL OFflwealsdenev

The first fluid which is released from the mammary gland after child birth is called as

a. Colostrum b. Prolactin c. Lactin

d. lactase e. Answer not known

GwHms UsBlIBel UBg uted S&IUNuledmba (WS (WHelsd Oeuefleurmd LT
eTeuTLILI(BLD.

a. GsmeverdL Jib b. yGymevnigest C. 6UTEhIQ6IT

d. eursBLerd e. alewL O flwailsdensv

Match the following:

List - I List - II

A. Male 1. Tubectomy

B. Female 2. Vasectomy

C.IUDs 3. Lippe's Loop

D. Hormonal methods 4. Contraceptive pills
A B C D

a 2 1 3 4

b. 1 2 3 4

C. 4 2 3 1

d 3 2 1 4

e. Answer not known

QUTHSHSHIH:

ugs — I ugg - 11

A. syemn 1. 19uGLGLLA

B. Quewr 2. aumQF&LLO

C. IUDs 3. adidlerd eyl

D. amniGumrer (pemmaeit 4. BHHHML  LOTHIH DIH6IT
A B C D

a. 2 1 3 4

b. 1 2 3 4

C. 4 2 3 1

d. 3 2 1 4

e. alewL OFflwealsdeneo
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34.

35.

36.

37.

38.

What is the formula of Body mass index (BMI)

a. BMI = Weight (kg) / Height (m)?
b. BMI = Weight (g) / Height (m)?
c. BMI = Weight (mg) / Height (m)?
d. BMI = Wight (kg) / Height (cm)?

e. Answer not known

o L Bummwd GHuilyer @&sHapd (BMI) eresten?
a. BMI = aenL (8&))/ o_wgid (16)°

b. BMI = atewL (&)/ 2 _wyid (8)°

c. BMI = aew. (0&) / o _wgib (16)°

d. BMI = eeoL (&) / 2 wpb (OF.18)°

e. alewL OFflwealsdenev

Desirable level for blood cholesterol should be less than for Indians.
a. 100 mg/dl b. 150 mg/dl c. 200 mg/dl
d. 250 mg/dl e. Answer not known

OphgwiTseller BIHsHHe0 DmEd Geuemigul al(BHLOLSDHHS OBHTIHLILTET  SieTeUTETH
DG LD.

a. 100 W& / QLA b. 150 W& / GLded c. 200 Wd / QLA
d. 250 g / GLded e. alewL OFflwailsdensv

The human circulatory system can circulate a millilitre of blood from the heart to feet
and back again within how many seconds?

a. 60 seconds b. 30 seconds c. 90 seconds

d. 120 seconds e. Answer not known

welHelel BIHdH @LU LWL VSHH T (peold @  Weved eILLT EISHIOTHIH 615560600
alemgsefled BHWSHIHHH LTHD oeuewy Ogaip WeaniBld BHWHHBEG oubs GCaFIbHa
NCEEN

a. 60 alemgaser b. 30 allenmgaseir c. 90 alemgael
d. 120 efenmgeseit e. alew OHfwaledenew
Erythropoietin is a hormone secreted by which organ?
a. Liver b. Bone Marrow c. Kidney
d. Spleen e. Answer not known
erfgGrmumul’ g6t eTenild amniTGLTes 6hs 2 MILILITEL &FFoHSLILBSBHI?
a. &6065J60 b. etguibL| LOgReme c. dmppysbd
d. wewrenfyed e. alowL O flwalsvenev
Match the following:
Blood Group Agglutinin
A A 1. No Antibodies
B.B 2. Anti A and Anti B
C. AB 3. Anti A
D.O 4. Anti B
A B C D
a. 1 2 3 4
b. 4 3 1 2
C. 3 4 2 1
d. 2 3 4 1
e. Answer not known
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39.

40.

41.

42.

QUTHSHHIH:

155 G DI 6ThL 19 il 6BTEB 61T
A A 1. SLSTQLITYH6T B606m60
B.B 2. oeig A oBmid sy B
C.AB 3. auang A
D.O 4. semg B
A B C D
a 1 2 3 4
b. 4 3 1 2
C. 3 4 2 1
d. 2 3 4 1
e. alewL OFflwealsdenev

The blood clotting factor prothrombin is converted to its active form called thrombin in
the presence of

a. Calcium b. Magnesium c. Vitamin K

d.aandc e. Answer not known

ArHeHD 2 _mpHed  &Tyewiwmer  LGymymbLier (peireliemevuiled  GlFweLLI(BHLD
SHFTbUeTs  LOTHBBLOHL SBSI.

a. smeuduiLd b. Gudefduib c. ewaulLifler K

d.a wBmpb ¢ e. alenL QFfNwelsdensv

Which of the following is correct?

a. Pulse Pressure = Systolic Pressure - Diastolic Pressure

b. Pulse Pressure = Diastolic Pressure - Systolic Pressure

c. Pulse Pressure = Heart Rate x Stroke Volume

d. Pulse Pressure = Heart Rate x EDV

e. Answer not known

LeiTeu(hHeuesTeuBmIeT 61l Ffluimengy?

a. BTYSHBIQLIL] SIIRSHBHD = FedBLTedd DIWSHHD - LwerdBLmeld DI(1DSHFHLD

b. pTYSHHIYI] SIWHBH0O = LwedBLTelld pSHFHD - FervBLTedd DIIDHIHLD
BTSSP DWPSHFHD = DHUSHYLIL aiFHlD X aiFHbsTelTenena)

- BTYSSINY SIpSsDd = BswHBNel aisd *x EDV

e. alemL OFfluaisvensv

an

Which of the following causes stroke in human?

a. Brain Haemorrhage b. Atherosclerosis c. Thrombus
d. All of these e. Answer not known

LelTeu(heuaieuBmIe 6%l WelgTseled LSsaTHHMmS IBLGSHSHSBHI?

a. cpevel BrsHsdsda] b. @155 CyrervdlelGymdlerd C. BIHHdHHL 19
d. @mal maTHHID e. alew OHfwaledenew

Ischemic Pain in the heart muscles is called

a. Heart Attack b. Myocardial Infraction  c. Angina Pectoris
d. Rheumatic Heart Disease e. Answer not known

GHAH HOLWTL BFHuSHHmaulsd gBUBL 616l TR DIMPSHBLILIBGBHBS.
a. ryenL Ly b. 8swssms BHamed GHTU

C. slehangenm GLIEGLTHerd d. mwrygs Bsu Ghrul

e. alewL OFfwealedensv
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43.

44.

45.

46.

47.

48.

Find the natural auxins

a. Phenyl Acetic Acid (PAA) b. Indole 3 Acetonitrile (IAN)

c. Indole - 3 - Acetic Acid (IAA) d. All of these

e. Answer not known

BuBmd L EFeidemen Hen(BLIY

a. Uemeed o1flgs oiflevd (PAA) b. BewiBLmed 3 oFGLTemBLemyed (IAN)
c. @ewiBLmed 3 — ofllps oweod (IAA) d. @mal SDIHHID

e. alewL Oxfweailedensv

The hormoners help for formation of parthenocarpic fruits

a. Auxins b. Cytokinins c. Gibberellins
d.aandc e. Answer not known

unTsHCeum &MTeS Hallael 2 (HaUTESHHBEG 2 FHab aBTTELT6EIEH6T
a. OL&HF 1B 6i b. g GLrensectiHe6 C. 29lirelesimelt
d. a @b ¢ e. alewL OGxflwalevenso

Application of cytokinin delays the process of ageing in plants. This is called

a. Richmond Lang effect b. Purkinje effect c. Holtzman effect
d. Gibbs - Donnan effect e. Answer not known

gL GLTen 60Tl 6iTbemerLI LWSTLIBHSHSHIDBUTS SHTEUT RIS (LPSIMLOULIENL U]
STOSLIGSHSILGIBH. DSBS eT6dImI  GILILIT.

a. M&wremil 6o allenerey b. utdaied aleneray C. BGammedL e Gosir aflemerey
d. dued - Gemen alleneney e. el GFflwelsvensv

Bakanae disease (internodal elongation) in rice was caused by fungus.

a. Pyricularia Oryzae b. Puccinia graminis c. Alternaria Solani
d. Gibberella fujikuroi e. Answer not known

OmBe0 LuTfled LSaETCar CHTUIMW (Bl LGS BLF) 2 LTSS LEhedTF

a. evufa@Geflwm @amyGs b. usdeiwm @ymoeferd C. sjeoLTpriwr Gameomed
d. g9uiflebeor 1Nuyed@ymul e. alemL OGxflwalsdensv

Which one of the following is called stress hormone?

a. Abscisic acid b. Gibberellins c. Auxins
d. Cytokinins e. Answer not known
LeeubUsUBBIeT 615 BnISEHene0 ammTéLOTeE 66 SIENSSLILBSBSI?
a. 9fds 9o b. 29iyeveeiiabeit C. O HAIBa
d. gl GLmenasef 66l e. alenL Gxflwalsdensv
Match the following:
Vegetative reproduction Plant organism
A. Fragmentation 1. Amoeba
B. Fission 2. Planaria
C. Budding 3. Yeast
D. Regeneration 4. Spirogyra
A B C D
a 4 1 2 3
b. 1 4 3 2
C. 4 1 3 2
d 1 4 2 3
e. Answer not known
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49.

50.

51.

52.

53.

QUTHSHHIH:

2 Lev ®elICLmHBHHID SHTUTLD

A. glewmgHe0 1. ousumr

B. dengzev 2. enGeorfuim

C. Quor @ alhaev 3. meroL

D. ®wiiy i Led 4. eroenUGITEnHJT
A B C D

a. 4 1 2 3

b. 1 4 3 2

C. 4 1 3 2

d 1 4 2 3

e. alewL OFflwealsdenev

Who discovered the basic principles of heredity through his experiments?

a. T.H. Morgan b. James Watson c. Hugo de Vries
d. Gregor Johann Mendel e. Answer not known

wriwels SIQULMLS HHHIUMISM6N CFTHMNHET (LP6OD HeWIBLIQHSHeUT wimT?

a. T.H. Gunireses b. Giberd eumL_geir c. aflwBasr eauflerd
d. dfait Cynser GLoaw_60 e. alewL OFNwealeoenev

is a graphical representation to calculate the probability of all possible genotypes
of off springs in a genetic cross.

a Pedigree chart b. Punnett square c. both are correct

d. Both are incorrect e. Answer not known

yiwed  seolifled  SCemenL Ll eleleUTBI 2 (HUTEHMSH  eleiLend O fhEH  OFTeTEnd Q@b
GUEMTLIL  (LPEWM SGLD.

a. Medf aflemésL LD b. yeten. &l Lib C. Byewipd &1l

d. @rewiG FfuieoeD e. alewL QFflwaledenev

The term "Chromosome" was first coined by in 1888.

a. Waldeyer b. Robert Brown c. Robert Hooke

d. Theodor Schwann e. Answer not known

aadiLieuT 1888 60 " @GHCymGon@amibae” 6B QFT6LMED (LPHEI  (LPHeJeL 2 (HeuTdha
LIWIGTLIB &3 6urTiT.
a. eumeuBL i b. gmur LGyemesr c. gmum’ anfs
d. HBwmLit erdoFeurmest e. alewL OFflwaledenev

Which one of the following is called 4 "O" clock plant?

a. Pisum sativum b. Vigna mungo c. Mirabilis Jalapa
d. Cicer arietinum e. Answer not known

LetTeu(heuesTeuBmie 6ihH0oleumeiinyl 4 LoewlHBHTUTLD 61610 DIWDSBILIBGSBSHI?

a. emUFLD FLewLeUD b. eldem (wriBsT c. wgmiederd ggevmuIm
d. ewsst o igebd e. alenL Oz flwalsdensv

The unit of distance in a genetic map is called a map unit one map unit is also called a

a. Milli Morgan b. Centimorgan c. Decimorgan

d. Decamorgan e. Answer not known

LDJLDGIY)] QUEMTLIL S aHleut OpTemevenaIsH GBS VVG;) QUEMTLIL VVG;) 6T6uT )
SIMPSBILBHMBH. Q(H UMILIL DIeVeNS  6(h 6TGIIQYLD  FnMBGUITLD.

a. 1leL6 LDTTEBGH b. Goang iomiTeses C. QLA omirees

d. QLéasT wriTses e. alewL OFfwailsdensv
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54.

55.

56.

57.

Which one of the following is useful in predicting results of dihybrid and trihybrid
crosses?
a. Tetrad b. Recombination c. Genetic mapping

d. Crossing over e. Answer not known
Letteu(heuesTeuBmIe 6hHOeUTEIm S(HU6eRIL SH6VLIL| LOBMID (LPLILIGNIL] &H6VLILIS6MET (LPIY6|SHenerTd
SmHa LWGTLIBHS 6S1mBen ?

a. [BT6IIS%eMLD b. wmignl 9enemniey C. LDJUE| GUEDJLIL LD
d. BsCsmpid e. alewL OHfNwaleenew
Golden rice can control which of the following disease?
a. Xerophthalmia b. Osteomalacia c. Pellagra
d. Pernicious Anemia e. Answer not known
Cureip oiMdl SpsTaviLieeuBmieT 6hgh GChTUlmw &L BLLIGSHHISBSI?
a. FGgmugmeodlwim b. euerdipBuimpGeodluum C. QueLELETT
d. Quieldwed Br&H5CsTens e. alenL OFflwaisoenso
Match the following:
Phytochemicals Uses
A. Digoxin 1. Antimalarial
B. Codeine 2. Anti-Carcinogenic
C. Capsaicin 3. Analgesic
D. Vincristine 4. Cardiac tonic
E. Quinine 5. Rheumatic pain treatment
A B C D E
a. 3 5 4 2 1
b. 5 3 2 4 1
C. 4 3 5 2 1
d. 5 4 3 2 1
e. Answer not known
CUT(HS HIS:
sTeuy CeuglliGLm(BL &eit LILLIGOT&B6IT
A. 9ggmdenSent 1. Gsuflwim eTAMDHHS!
B. Gamigeir 2. UBmICHTUISG 6ISHITOHbHSH
C. Galimadla 3. 6uedl mleumyeuf
D. aleidiferdenL et 4. BsUHFBE LOHHS
E. @uileneteir 5. aurgHeuedlenil @GewIlILBSHSHID
A B C D E
a. 3 5 4 2 1
b. 5 3 2 4 1
C. 4 3 5 2 1
d. 5 4 3 2 1
e. alewL OFflwealsdeneo
Match the following:
List-1 List-1I

A. Halophytes 1. Plants living in acidic soil

B. Psammophytes 2. Plants living in ice surface
C. Cryophytes 3. Plants living in Saline soils
D. Oxylophytes 4. Plants living in sandy soils
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A B C D
a. 3 2 4 1
b. 3 1 2 4
C. 3 4 2 1
d. 3 1 4 2
e. Answer not known
QUTHHSHIH:

uga - 1

A. GamGeumemnuL 6rd
B. anG@umenul_erd

C. BenyGuimeniit_erd
D. sis6fGevmenLi erd

A B C D
a. 3 2 4 1
b. 3 1 2 4
C. 3 4 2 1
d 3 1 4 2
e. alemL OFfualsvemnsv

58.  Match the following;:
List-1
A. World forest day
B. Earth day
C. World Biodiversity Day
D. World Wildlife Day
E. International Ozone Day

A B C D
a. 5 4 3 2
b. 2 4 3 5
C. 3 4 5 2
d 3 4 2 5
e. Answer not known
CuBSHHIH

uGa-1

A. 2 605 eue Feurd

B. yal &ed

C. 2 08 LT FHeld

D. 2 & suciaileumig gHebd

E. 91dlev 2 s @Ggmen Hebd
A B C D

a. 5 4 3 2
b. 2 4 3 5
C. 3 4 5 2
d 3 4 2 5
e. alewL OFflwealsdeneo

=

N 5|

o =

ugg - 11

SIOI6V  LOGKWTENI6D GUT(LPLD  SHTEUTHIBHEIT
Ul 60D 15&HI QUT(IPLD  SHTEUTHISENT
® 6Uf LDGWTENI60 GUT(IPLD SHTEUTHIGEIT
LOGUIBLIMRISTET LiGHUTled euT(IpLD SHTEUTHIGEIT

List-II

1. September 16
2. March 3

3. March 21

4. April 22

5. May 22

uga-11

1.

Al

QelLbuy 16
g 3
g 21
gliye0 22
G 22

59.  Carbon stored in the atmosphere and oceans is called as

a. Blue Carbon
d. Black Carbon

b. Green Carbon
e. Answer not known
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60.

61.

62.

16 | Page

auerloewTL 60D LOBBID &L 60H6M60 CFLOSHLILIBLD HTTLIGHT
a. [H6v  SHTLIeH b. ugeMS HTLIGT
d. smewd ST e. alewL OQFfwalsdensv

Choose the incorrectly matched pair

a. Monosaccharide - Glucose
b. Disaccharide - sucrose
c. polysaccharide - Cellulose

d. None of these
e. Answer not known
FHouprer Bemenienwldh CHTHOSH®

a. QPMNBFFTHHM] - &enSCHmerd
b. @y F Fibsmy - &&BGymerd
C. Sl (S5 FTHHM] - GFevaIBevmerd

d. GuomamPiuw ggiIflevemen
e. alemL OFfluaisvensv

Match the following
A. Vitamin A 1. Derivative of Quinone
B. Vitamin K 2. Retinol
C. Vitamin C 3. Ascorbic Acid
D. Vitamin D 4. Calciferol
E. Vitamin E 5. Tocoferol
A B C D E
a 1 2 3 4 5
b 2 1 3 4 5
C 3 2 1 5 4
d 3 1 2 4 5
e. Answer not known
QUTHSHHIB
A. eveul Lifleir A 1. GuWiGeammeier GeuglliGLIT(HeiT
B. eweulLifer K 2. QrLigenmed
C. weau Liflar C 3. oeammis Sbleob
D. eweu’ Liflesr D 4. sme0d.".CuyTeD
E. wan’ Lifler E 5. GL1Bsm. .0Lymed
A B C D E
a. 1 2 3 4 5
b. 2 1 3 4 5
C. 3 2 1 5 4
d. 3 1 2 4 5
e. alewL OGFMwealedensv
Match the following
A. Vitamin By 1. Thiamine
B. Vitamin B, 2. Riboflavin
C. Vitamin B3 3. Niacin
D. Vitamin Be 4. Pyridoxine
E. Vitamin Bi2 5. Cyano cobalamine
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63.

64.

65.

66.

A B C D E

a. 1 2 3 4 5

b. 2 1 4 3 5

C. 3 2 1 5 4

d. 4 5 2 1 3

e. Answer not known

QuTHSHHIH

A. eeul Lifles1 By 1. suwbles

B. eneul_L1flesT B2 2. MGum." .LNCemai 651

C. eweut L1flesr Bs 3. pwrdlesr

D. eneul_L1flest Be 4. eouflLmadlei

E. emeu_L1fes1 B12 5. FWGITEHTLITELELDGIT
A B C D E

a 1 2 3 4 5

b. 2 1 4 3 5

C. 3 2 1 5 4

d 4 5 2 1 3

e. alemL OFfualsvemnsv

Deficiency of proteins and energy leads to

a. Kwashiorkor b. Marasmus c. Thyroid

d. Bothaand b e. Answer not known

LISSSmDBUTEH OBHID SLBBEL G@BUTLLTE gBUGaIS

a. @eurdBuiiTeiT b. ymerdiperd C. dHITUIH

d.a B b e. alewl OHfuwaledenew

Choose the incorrect statement about Dengue fever
a. It caused by flavi virus

b. It spreaded by Aedes Egypti mosquitoes

c. Decrease in Blood platelets

d. Decrease in white blood cells

e. Answer not known

OLmIg &sTuIFsed UMY SHeusTen SnBml 61%H7?

Leeval emeugdlemed gmLIBSBSHI

gigery 61ty OBTFHSHBHeTTeL LIFe BBl

BHeL 1555 HL(HH6Mein 6lewTenidbmad (&emMBULD
BFe0 THH OleusTeNeTLIEISHH6NT6 6TewIenlHeND GHMBHEH STl ILIBLD
allewL  OFflwealedensv

canoe

Which of the following disease is not spread by Bacteria?

a. Tuberculosis b. Chickenpox c. Cholera
d. Typhoid e. Answer not known

Ledteu(meueteuBmlen umdleflwmeursd Ugeursh GuTul 61gh?

a. srF@pHIul b. sl Libenio C. STV
d. evLumuil e. alewL OFfwalsdensv

Choose the correct statement about penicillin

It produced from the fungi of penicillium notatum

It is called as queen of drugs

First antibiotic drug discovered in the world in 1928 by Alexander Fleming
All of these

Answer not known

oo T
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67.

68.

69.

Quesrdlevler LBPIW mBmideied Fflwmerg e1g?

a. Oueldledwid QBT CLLLID 6B L ehenguled(hbd SIDWmHbHEH 2 (HeuTdhSUILGSBSI.

b. wmbaiBeNe gTenl CIGIHI HIMLSBIILGBBSI

C. 1928&1b oewih  SGevderomewiLiT . LIC6emO®  eTaTUoITed @ 60BHCBW  (LpFHET(LPSHeI0
sewiLpwiu’ L GerTuwl eIy 68 HbHS

d. CuBampiu SIMTSHHID

e. alwL G flwailsenso

Choose the incorrect statement about Red blood cells
a. It always contain a nucleus

b. these cells die quickly

c. two million red blood cells die every second

d. None of these

e. Answer not known

BOrsHs Faull] CFevseT GPHH HaUBTEIH 61517

a. @glev 2 Lam lurgib sTentliuBGaBS
b. @bs OFezer almyaied BB amsent
c. &t @yewi® Wevedwer Heully GCFevdel @albeum(m GBTQUILD @B 6ment
d. @mar ggIdevenev
e. alwL Ggflwalsvenso
Who classified the animals into with blood and without blood?
a. Darwin b. Aristotle c. R.H. Whitakkar
d. Robert Hooke e. Answer not known
alevmiGEHMmeT QIHSHD 2 LUl alevhIGSH6T WBBDID BIHSD BB alevnGHeT eeill LfdhaHeuT
a. Lmeies b. ofledLm 1960 c. RH. ol BLéaT
d. ymum’ eames e. alowL O flwalsbeney
Match the following
A. Protozoa 1. Euglena
B. Porifera 2. Sycon
C. Coelenterata 3. Hydra
D. Platyhelminthes 4. Planaria
E. Annelida 5. Earth Worm
A B C D E
a. 1 2 3 4 5
b. 2 1 3 4 5
C. 1 2 4 3 5
d. 2 1 3 5 4
e. Answer not known
QummSHHIH
A. yGym GLrBzmeur 1. wdefemm
B. QuriQugm 2. DF BTG
C. FCevangGyL_Lm 3. el [T
D. denm’iGamsoideigey 4. enm@eorflwm
E. e 5. LDGWTL(LD
A B C D E
a. 1 2 3 4 5
b. 2 1 3 4 5
C. 1 2 4 3 5
d. 2 1 3 5 4
e. alewL OFfwealedensv
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70.

71.

72.

73.

Match the following

A. Nematoda 1. Millipede
B. Arthopoda 2. Ascaris Lumbricoides
C. Mollusca 3. Octopus
D. Echinodermata 4. Kangaroo
E. Mammalia 5. Sea Urchin
A B C D E
a. 1 2 4 3 5
b. 3 1 2 5 4
C. 2 1 3 5 4
d. 4 2 5 1 3
e. Answer not known
QUTHSHHIB
A. OpwGLTLT 1. oyeulenL
B. eytsGymGumn 2. oleramilerd bl famuil Lerd
C. Gevoa_ 606l 3. oHBLTLIeD
D. L Gxrelser 4. SEIB(H
E. umeomip 5. &L6v &FmopH)
A B C D E
a. 1 2 4 3 5
b. 3 1 2 5 4
C. 2 1 3 5 4
d. 4 2 5 1 3
e. alemL OFfluaisdenev
Which of the following is the Natural Food preservative?
a. Salt b. Sugar c. Oil
d. All of these e. Answer not known
Leleu(heuaiauBmIeT QUuIBme 2 oyl LTSHISTILL QuT[heT 61gI?
a. 2 1 b. srdbsemy C. eTemGlemTu
d. 8mal Sm&TISHHID e. alewL QFflwaledenev

Choose the correct sequences regarding the stages of Aerobic respiration
a. Glycolysis, Krebs cycle, Electron transport chain

b. Krebs cycle, glycolysis, electron transport chain

c. Krebs cycle, electron transport chain, glycolysis

d. Glycolysis, electron transport chain, Krebs cycle

e. Answer not known

STHBBI6TEN FeUTFHHeleen Lighlenevdeier gflwmer sauflmgamwsd CHTHOHH
SHewendsTedFlerd, Sl HPBF, 6Te0ELITaT SHLSHFHID FhdSed SlenioLi]
Syl spBdl, HemendaTeldlery, 6T60ELITHI HLSHHID FhFSed SlenoliL]
S &, eTevdHL JTe SLSHHID FhPHed Sienioli], FHenendbasmeddlerd
SHemenTdHTe0F 610, 6TeLHLITET HLSHHID FhIFeN Slewoll, &Syl spBdl
allewL  OFflwealedensv

oan o

The process, Glycolysis takes place in

a. Mitochondria b. Cytoplasm c. Protoplasm

d. Cell membrane e. Answer not known

SHlenendsTelFlerd HenL GumId @)L 1b

a. ewwl GLmamessttfluwim b. ewal GLmlenmaid c. YGym GLmienmaid
d. Qgev Feuey e. alewL OxNwealeoenev
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74.

75.

76.

77.

78.

79.

In which process, the movement of water occurs exclusively through the intercellular
spaces and the walls of the cells?
a. Apoplast pathway b. Symplast pathway c. Transpiration

d. Aerobic respiration e. Answer not known

e (WPdBUled BITENH (PSS (PSS OFeogauT LBEBID 0Fed @l Geueiuler euflwirsd
CFeLSmSHI?

a. oIGumienmerol auf b. fiblemmerdr e c. mImalliGurs@

d. srmmieen sHeuTFID e. alewL OFflweailsbensv

Choose the incorrect statement about Human Heart?

a. Heart is made of cardiac muscle

b. Heart is enclosed by pericardium

c. The chambers are separated by partition called septum
d. Pulmonary veins bring deoxygenated blood

e. Answer not known

el @sWb uBpslw Heuprer FpBpiemeard CabhosMH

a. @sWIb SMTQEUITS HHFUNEITEDL LIS

b. @swib QuisT Yuib o mpBuTed @I (BeTerg

Cc. GeiLb eaiug BsusHHar Semposmentl LMol Bl FaeuT

d. asdmea Gmphs BQIsHss5ms bHioyuized Hamyser GBI eBeT

e. alowL Gafwealsvensv

The diameter of the capillaries is

a.5 um b. 6 um c.7 um d. 8 um e. Answer not known
1555 shiSlserien allLid

a.5 um b. 6 um c.7 um d. 8 um e. alew Oxfwalsdenew
Persons with what blood group can receive blood from persons with any blood group?
a. A group b. AB Group c. B group

d. O group e. Answer not known

abd BIHH aumsulmend OC&Tewl BUT DMATHSH DIHSH eauenswlamlLOBHhIID BIsHHHmd
JMmISOBTETLIGUT?

a. A auems b. AB sauens c.B aums

d.O aumwas e. alew Oxflwaledensv

Which of the following is called as “emergency hormone”?

a. Adrenaline b. Noradrenaline c. Thyroid
d.aandb e. Answer not known

QuTgIITE UFTHETEL aBTTCLTET TaIp DIMPSSILGISH 61517

a. o Merelesr b. mrron Mereder C. dBITUIH
d.a&b e. alew OHfNwaledenew

Choose the correct statement

1. Sometimes ovaries releases two eggs and each is fertilized by a different sperm
resulting in Non-identical Twins

2. If single egg is fertilized and then divides into two foetus, identical twins develop

a.1only b. 2 only c.land 2

d. none of these e. Answer not known

gilwmer gnprilenars GHTHOH®

1. Fev Fowmisellsd WL BHHeMMe0 BFewi® (PLevLwimergdl Oeueful i’ G &m Ceumiul L
albHleuTed HHOYBIHD HewL OB Couml’ L Sl enL WiTEH6T o (HeuTdlermeoT

2. @ WLedLwreidl @F elbseuted sSmeypd QFuwiul’ (G @reniG  SHeuTd  Lleme|ul L meo
R5S BT ML WITHET 2 (hHeUTH6TB60TT.
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80.

81.

82.

83.

84.

85.

a. 1 w’ @ b. 2 w' @G c. 1 wBmpb 2
d. @me gmIdeLmev e. alenL Oz flwalsdensv

Each gene is present at a specific position on a chromosome called its
a. Locus b. Focus c. Centromere

d. Genome e. Answer not known
@6uGeurm Menid GHCTCGLTGambed @b GPULILL SimWailHH60 SIEMLOHBITETENS 6I6IMTHI
SImSHH Gmmid?

a. Geurmerd b. . .Guraserd C. Qe GymouwiT

d. 25Gemid e. alewL QFfwalsdensv

Which of the following genetic disorder is caused by the mutation of a single gene?

a. Sickle cell Anaemia b. Cystic fibrosis c. Down syndrome

d. Albinism e. Answer not known

etteu(mheussteuBplied 61bd WrLlwied GmTul @menm 23afled gBUBLD HeToTBBHSTL gBUBSHMBSHI?
a. ad1 ofleutel BrHs Gstewns b. Hevigds emurIBLFTENI6D C. Leyert Gpmul

d. spoielgbd e. alewL OxNwealeoenev

Who received Nobel Prize in physiology for his discoveries concerning the role played
by chromosomes in heredity?
a. Thomas Hunt Morgan b. Charles Darwin c. Karl Landsteiner

d. Mendal e. Answer not known

urgouflwghaleo  GGrmBunGambseaiien LEIE uBBW  SUIBLIQLILGBEHSSTS O(HSHIHIOID  FTThH
slenpdsTen CohTued uflensll QuBBeuT wimT?

a. SHID6IV QBEWIL  LOMTE6I b. gnireverd Lmirelest C. &iited GevevteroleediT

d. Guewn_ev e. alewL OFMNwealsoenev

Which of the following is called as Protozoal disease?

a. Amoebic dysentery b. Malaria c.aandb

d. Rabies e. Answer not known

Wetteu(heueteummie o1& LGIm GLm Cameusd Gpmul eletiml SiempSELILIGHBEHI?

a. oufls F56ud b. wGsorfluwim c.awpmib b
d. Gyulerd e. alewL OQxNwealsvenev

Beverages like wine are produced by fermentation of grape fruits by

a. Bacillus megaterium b. Saccharomyces Cerevisiae

c. Aspergillus niger d. Frankia

e. Answer not known

ST eng JFRIBET (eneuen) GUTEIB LITIMISET SHITLNFL LIPSHMS Cameni(h OETHHH
meUSHH ST BLILIH S TmenT.

a. .".Gudleveverd QST Muib b. gaan@yrenindlerd GafleldGu

C. SIEOLITE606061D  MHEIT d. ..CigmestaSuwm

e. alemL OFfluaisdensv

Melatonin is a hormone produced by which gland?

a. Adenohypophysis b. Ceruminous gland c. Neurohypophysis
d. Pineal gland e. Answer not known

GoevBLrelledr amniTGomes 6hs SFULIWTED &IHsUILGSBEI?

a. 9lpGammenanliIGUTemng Flerd b. HAmdererd &y c. pwCrmemaniGurenLiglerd
d. delwed &g e. alewL Oxfwaledenew
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86.

87.

88.

89.

90.

Match the following

ListI List IT

A. Flowering Plant 1. Riccia

B. Non-Flowering Plant 2. Cycas

C. Gymnosperms 3. Mango

D. Angiosperms 4. Sun flower
A B C D

a. 4 2 1 3

b. 4 3 2 1

C. 4 1 2 3

d. 4 2 1 3

e. Answer not known

QUT(HSHHIH:

aflens 1 aiflens 11

A. ys&Ib HTeuyld 1. Mafwmr

B. yeurg smeuyid 2. MFHHEI0

C. 2ibGemmerdOLITD 3. 1T

D. auehdGuimerdGLiimd 4. Giw SMHa
A B C D

a. 4 2 1 3

b. 4 3 2 1

C 4 1 2 3

d 4 2 1 3

e. alemL OFfluaisdenev

Present in the epiphytic root of Vanda plant absorbs moisture to perform
photosynthesis.

a. Velamen tissue b. Parenchyma tissue c. Collenchyma tissue

d. Sclerenchyma tissue e. Answer not known

aumewiLT  HreurdHHer  CemBm  CeauTsefled o siten sMHBPlT  FILIUSHMS 2 Mlehd]
eMFCaFTdmaHE 2 FHa b

a. Oeueomoet H& b. unyeiensIOT Ha C. Camevsiiens®IOT H &

d. evdefyeiension FHa e. alewL OFflwaledensv

Which of the following plant has the breathing roots also known as pneumatophores?

a. Cuscuta b. Avicennia c. Valisneria

d. Banyan e. Answer not known

SpHamiLaummle Bl G .Guritese eaiuBL Faurtde@Gd GCousel STewllILBLD HTeuFd 6157
a. SeGL LT b. oelFefwim . eumeleromiwim

d. syevogid e. alewL Oxflwaledenev

Protein synthesis is carried out by ribosomes in bacteria.

a.605 b.70S c.80S

d.90S e. Answer not known

ursleflwreled LUIsd Carodenswimeig) alend mICUTCFTDSHETEL HewL CLIBISIBSI.
a.60S b.70S c.80S

d.90S e. ol Gxflwelsvensy

Which of the following cell organelles are absent in Bacteria?
a. Mitochondria b. Golgi body c. Endoplasmic reticulum
d. All of these e. Answer not known
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etteu(pld OF6d HIewIamIBILILHEH6T eTener LiTdhleflwmailed &merliLi{Beuds)e0ens0?
a. enwl GLmasmeworl fuim b. Gamevens 2 I 60lD C. elewiBLmilenTd  auem6vLN60T60T60
d. Bmar SIWRISHHID e. alenL QxfNwelsvensv

91. Protozoa are included under the king dom

a. Monera b. Protista c. Fungi

d. Archaebacteria e. Answer not known

UGm_BLrBameum auemSLILITL 196D D © 6udle0 B LbOILIBBIETETE.
a. Guomedym b. yGymgeroLm C. UGhena

d. syrédumdsefum e. alewL OHfNwaleenew

92.  Which of the following is incorrect pair?
a. Nucleus - control centre of the cell
b. Mitochondria - powerhouse of the cell
c. Lysosome - suicidal bags of the cell
d. Centriole - presence only in plant cell

e. Answer not known
LedTeu(mHeueTeuBmIeT SHeummen Eenewr 61517

a. 2 Lasm — 0F60eder s GUUT (B enLDulLD
b. enwl BLrsmemi fwr — GFevede QBB ELOUILD
c. meuGanGambae - GFevelal HBOETEMEVLIENL
d. Qe MGwmed - sreuy GFevseled LB 2_6iTeNg)
e. alowL Gafwealsvenso
93.  The Mitochondria were first discovered by in 1857
a. Kolliker b. Benda c. Robert Hook
d. Robert Brown e. Answer not known
18574b o601 ewOL GLTamewILfluimeney (LPSH6T (LPSHeoTs SHewiLBihHeuT _
a. Gamefldbair b. Quewm c. ®ymum’ anfd
d. @ymum’ NOyerest e. alewL OFflwaledensv
94. is the earliest system of classification in plants:
a. Artificial system of classification b. Natural system of classification
c. Phylogenetic system of classification d. Mordern system of classification

e. Answer not known

SHTUJ UMSBLITLIQUIeTe0 LOS6D LILEHLOWITET (LPemm .

a. QFwBens ST B (LpedMm b. BuBms aumalIUT (B (WeB
C. yyeud eueasLIUTL (B (LPpeds d. pefer euensLTl B (Wenm
e. alemL OFfluaisvensv

95.  Bentham and Hooker's classification is an example of

a. Artificial system of classification b. Natural system of classification

c. Phylogenetic system of classification d. Modern system of classification

e. Answer not known

CUBSLD LOBBID OB SHHMET UMBLILITLIQUISD  (LPEND QUMBLITLI9BEG 61BSHIHIHBTL (b
G LD.

a. ewmens eumaLUTL(H (LPemD b. Qumens auemsILTL B (LpedB

c. wyyeufl euenslILTL G (Wewm d. pelenr auewaILT B (1pedB

e. alewL OFfwealedensv
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9.

97.
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Match the following:
Algae

A. Bluegreen algae
B. Green algae

C. Brown algae

D. Red algae

A B C D
a. 3 2 1 4
b. 3 2 4 1
C. 2 3 1 4
d. 2 3 4 1
e. Answer not known
QUT(HSHHIH:

LT b6l

A. peotiuFengll undlser
B. usemslt urdsei
C. ueuylr urdlsel
D. feuiiglr undleeit

A B C D
a. 3 2 1 4
b. 3 2 4 1
C. 2 3 1 4
d. 2 3 4 1
e. alemL OFflualsdensv
Match the following:
Fungi

A. Fusarium Oxisporam

B. Colletotrichum falcatum
C. pyricularia oryzae

D. Albugo candida

E. Cercospora personata

A B C D
a. 5 2 3 4
b. 5 2 4 3
C. 5 4 2 3
d. 5 4 3 2
e. Answer not known
QUT(HSHHIS:

L 6heng

A COwGailwib  éderd@umyid

B. GamelLmenysbad . .Le0BsL L LD

C. eouflgBsoflwum genyGs
D. o60oBasr GmeutgLm
E

Types of Pigments
1. Fucoxanthin

2. Chlorophyll

3. Phycocyanin

4. Phycoerythirin

BHBluler euema

—

2
3.
4

e e 5|

. QFTEGsmerdGumyT  ELITOFTGaILLT

A B C D

a. 5 2 3 4
b. 5 2 4 3
C. 5 4 2 3
d. 5 4 3 2
e. alewL OFfwealedensv

e v

Sy sCsmamh et

. UFemIFWILD

. .mLIGssT w6 661

. .eouUGsmerflg gifleor

Name of the Disease

1. Tikka disease ground nut
2. Red rot of sugarcane

3. Blast disease of paddy

4. white rust of radish

5. wilt disease of cotton

Gpmuienr QLT

1. GaurdbasLemeouied 19&HHT GHIUl
&(HLIeL Fauli] oipsHe0 Grul
OBeLevleL Liemmerdl.  Grmul
(weitenmissluiled Gleuemreitel Gpmul
UmSHHuled eumLe0 GBmul

A

PH: 044 - 24339436, 42867555, 9840226187




98.  Choose the incorrect pair
a. Gaspard Bauhin - Binomial Nomenclature
b. Carolus Linnaeus - Father of Modern Taxonomy
c. R.H. whitaker - Five Kingdom classification
d. W.Martin - Classification of Algae
e. Answer not known
FHoupTer Qemenionuld CaHiThHosH®
sTeroumT® utansles - @mogmm GuwfBeHev
&B8ymeverd eJleBeaatuierd - HaieT EUENSLILTLIQUISIST HhHend
RH. el GLéaT - mbsHevs euenasLiLmy
W. i igest - undlseflest euenasliLmb
alenL  Oxflwailsvensv

oo o

99.  Which is the incorrect one regarding Chipko Movement?
a. It was started in 1973
b. Itis primarily a forest conservation movement
c. Sunderlal Bahuguna was the founder of this movement
d. It was started in Karnataka
e. Answer not known
ACasr Quissld GBS SHouBTaid 61H?
@eielwssd 1973860 OGIHTLRISLILLL S
(PSHBENLOWITS  6UdT LITHISBMLIL SuidhesLD
el WSEHH 6T HIBIGUETT SH[bSHTEOM6D LG 60T
AealWssD STHTLSHHED OHTLRISLILILL F
alenL  OFMwailedenev

oo o

100.  Which is known as the Lungs of the Earth?
a. Western Ghats b. Amazon Forest c. Alpine Forest
d. Himalayan forest e. Answer not known
yblufer miewguiyed eterip SWLILIGeUS 61517
a. CuBe OFHTLTFS wwemev b. GwgmeT HTGSH6N C. SLELMLIG HT(HEH6I
d. @wreows sTHS6NT e. alewL OFflwaledenev

101.  The term Social Forestry was first used in

a. 1970 b. 1973 c. 1975 d. 1976 e. Answer not known
Fepd UG 6TIB OFT60 (LPHE(LHHeU60 DIDEVIHE UbHSH DhLel[H
a. 1970 b. 1973 c. 1975 d. 1976 e. alenL Oz flwalsdensv

102.  Choose the incorrect pair

a. Madras Wildlife Act - 1873

b. all India Elephant Preservation Act - 1878

c. Bengal Rhinoceros Preservation Act -1972

d. All India Wildlife Protection Act - 1972

e. Answer not known

sHeauprer Semenienwlsdh CHTHOSH®
QL_gmerd euealevmiE FLULID - 1873
OB HHW Wrener LTHISTIL FULID - 1878
QUBIBTEN ST MO(HS FLU LD - 1972
SIF0 @HHU euaTallevmid UTHISTILY FULID - 1972
allewL  OFflwealedensv

ocanoe
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103.

104.

105.

106.

India’s share in world’s land area is

a.2.2% b. 2.4% c.31% d. 2.8% e. Answer not known
® 0% MHeolugliied @bFHwmaler LImiE
a.2.2% b. 2.4% c.31% d. 2.8% e. alowL GFHNwealedensy
Match the following
A. Jim Corbett National Park 1. Uttar Pradesh
B. Dudhwa National Park 2. Uttarakhand
C. Gir National Park 3. Madhya Pradesh
D. Kanha National Park 4. Gujarat
E. Sundarbans National Park 5. West Bengal
A B C D E
a. 1 2 4 3 5
b. 1 2 3 4 5
C. 2 1 4 3 5
d 2 1 3 4 5
e. Answer not known
QUTHSHHIB
A. Bammou’ Casflw ymisT 1. 2 $5riy8ssd
B. sugeur Capdlw ymst 2. © 56T
C. &t Gadflw ymisT 3. wHHW Lg6mad
D. seaiamt Caflw ymst 4. SIS
E. spsitusied Capdlw ymisr 5. GuB@ eumisLD
A B C D E
a. 1 2 4 3 5
b. 1 2 3 4 5
C. 2 1 4 3 5
d. 2 1 3 4 5
e. alewL OGFMwealedensv

Who among the following founded the Blue cross of India, the largest animal welfare
organisation of Asia in Chennai?
a. M.S. Swaminathan b. Nammalvar c. V. Sundaram

d. Krishnamoorthy e. Answer not known
Caaiemenuisd gflwimaler WOSLIGUTAW allevmE BV DIHOLILITET LiehSITTed o). .11 ShaHuiTenel
BpeNweuT wmir?

a. M.S. gseumOmrser b. mibwmeuT c. V. apbsyb
d. dmadewiepTsd e. alew OHfwaledenew

How many pairs are correctly matched?

1. Nanda Devi - Uttar Pradesh

2. Nokrek - Manipur

3. Manas - Assam

4. Similipal - Odisha

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

SLDSHHEWIL UBMBIGT 6T1HHmen @enewidbel Ffwimes CQUTHSHSHILL (Beiernet?
1. phaHTCHa - 2 55758sF1b

2. Gprabys - LDGUALILLT

3. Lemerd - ©I6M6NVMLD

4. Avledumed - QAT
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107.

108.

109.

a. @f Beneuwr b. &m Bmewnismei C. CLPGHIEI BN 6uIH6T

d. preis Sewentasei e. alenL Gafwealsvenso

Match the following

A. Nitrogen fixation 1. Azotobacter

B. Ammonification 2. Putrefying bacteria

C. Nitrification 3. Nitrosomonas

D. Denitrification 4. Pseudomonas bacteria
A B C D

a. 1 2 3 4

b. 2 1 3 4

C. 1 2 4 3

d 2 1 4 3

e. Answer not known

QuTHSHHIH

A. »BLI6T Bleneus mIshaHIsHe0 1. o5 BLrBusLiT

B. oubGureiwmeurged 2. Slpameudb@GD LTdleflwum

C. enplGrlLmsed 3. ewpLyGsrGLomennmerd

D. eopLlymer GeuefGummLd 4. &OLGrenmmerd LTsLlefluim
A B C D

a. 1 2 3 4

b. 2 1 3 4

C. 1 2 4 3

d 2 1 4 3

e. alemL OFfluiaiedensv

Consider the following

Assertion (A): Earthworms are referred as ‘Farmer’s Friend’

Reason (R): After digesting organic matter earthworms excrete a nutrient rich waste
product called castings which is used as vermicompost

a. Both (A) and (R) are correct and (R) is the correct explanation to (A)

b. Both (A) and (R) are correct and (R) is not the correct explanation to (A)

c. (A) is True (R) is false

d. (A) is False (R) is true

e. Answer not known

LetTau(hHeuaTeuiBens  SLITUISH

gaBml (A): LOWIL(RSEET 2 |peueTel [HEMILIGT 616 SIeNLDESBLILIBE 636,

srgenid  (R):  sflwonGurmlsemen  Qaflorend CFUISLIST  OILI(LSSHET  MBLIRET  FH
Benphd Lpalevsadlul wewr ereriuB siflenet GleueGuImBsIS e

a. (A) wpmpw R) &M Gweud (R), (A)dg gfwrer alendasid

b. (A) wppib (R) s eyemmed (R), (A) &@ aflwren alendbsbd oieve0

c. (A) sfl spemmed (R) seumi

d. (A) seup syemmed (R) &

e. alewL OFMwealedensv

Choose the incorrect one

India accounts for 10-11% of all recorded species
India became state member of IUCN in 1969
IUCN was founded on 5th October 1948

Red data book was first published in 1964
Answer not known

o0 o
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SupTel Qaidmps CHHOs6

a. @pdHwraied 10-11% vudHwiul L HABpSlemtise o _eiternen

b. @pHur 1969@s0 TUCNeT o miiniler mrmeig)

c. TUCN 9oy 1948 o1&6Lmum 5 Sieim Bloleuliil L g

d. feuiy a6y ySHHD WHeTeO 1964860 GeueuiL Ll L g

e. alowL Gafweiledenso

110.  Match the following

A. Xylem tissue 1. Absorption of water and Minerals

B. Phloem tissue 2. Transport of water and minerals

C. Epidermis 3. Transport of food

D. Root hairs 4. Protects the inner tissue
A B C D

a. 1 2 3 4

b. 2 1 4 3

C. 2 3 4 1

d. 1 2 4 3

e. Answer not known

Ledreu(meueieuBenmll  QUM(hS SIS

A. engeud FHa 1. BT BEID Senomemen 2_lehdid eimer

B. yGenmmuid Ha 2. BT LOBDID SRS HLGHHIH6D

C. ea10LMAerd (LyB&HBHT6v) 3. o awieyll QUTHL SHmeNsd HL SHGHIH60

D. Gauirggmaiser 4. o 'UBSH HEHSSMENL LTHISTHSBH
A B C D

a. 1 2 3 4

b. 2 1 4 3

C. 2 3 4 1

d 1 2 4 3

e. alewL OGFMweailedensv

111.  Choose the incorrect one

a. Chloroplast - Green coloured plastids

b. Chromoplast - yellow, red, orange-coloured plastids

c. Leucoplast - colourless plastids

d. None of these

e. Answer not known

gHeupTen getenns CHTHOHB

&CemmGymienmerol. - LFMIFHBUPHLUI HewilBHLD
&CrmGomienmerol - EhgFelT, Feulll, DTEHF HBIPHLUI Hewil LD
oluyBCamilenmerdl. - HIBLOBMB  Hewll LD

Guomgnpiw 61516 L0606m6V

allewL  OFflwealedensv

ocanoe

112.  Match the following

List1 List - II

A. Amitosis 1. Indirect Division
B. Mitosis 2. Reduction Division
C. Meiosis 3. Direct Division
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A B C
a 3 2 1
b 1 2 3
C 1 3 2
d 3 1 2
e. Answer not known
QUTHHSHIH:
uga 1 ugg I
A. genwol Lrdlerd 1. weBIPs LUGLIY
B. emwlLmdlerd 2. GHFMeL LUGLILY
C. 1Bwrdlerd 3. Gmygl LGy
A B C
a 3 2 1
b. 1 2 3
C. 1 3 2
d. 3 1 2
e. alemL OFflualsdensv
113.  Mitosis was first discovered by .
a. Alexander Fleming b. W. Fleming c. Robert Hooke

d. Robert Brown

(PSHST (LPFHeVIeL emLOL L TFlerd
. SIVHEVFTEITLT . .LN6mDLOEI
d. gmum. Gyemest

114.  Match the following;:
List1
A. Interphase
B. Karyokinesis
C. Prophase
D. Cytokinesis
A B
2 1
4 1
4 2
3 1
e. Answer not known
QUT(HSHHIS:
ugd 1
A. @ pHenev
B. GafGwnensedlerd
C. yGym Blemev
D. engl BLrenasendlerd
A B C
a. 2 1 4
b. 4 1 2
C. 4 2 1
d. 2
e.

C
4
2
1
2

oo g
=~ W W wg

B W W wdg

3 1
allewL  OFflwaisdensv

e. Answer not known

GTETLIGUTT6L  BHeuT(BLNQBBLILIL L G).
b. W. .. dembiiimi C. JgmuT. ené
e. alomL Oflwalsvensv

ListII

1. Division of nucleus

2. Nucleolus disappear
3. Resting phase

4. Division of Cytoplasm

ugd 11

1. 2 ULs@m u@ly

2. o | &(Hoewi DB MBS
3. @UIe| Hlenev

4. g GLmienms LG
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115.

116.

117.

118.

119.

120.

Genetic recombination (crossing over) takes place in stage of meiosis.

a. Leptotene b. Zygotene c. Pachytene
d. Diplotene e. Answer not known

Wwirdlerd LG LI Neot Bemeoulled  gLiwied  EFCFTHme  (GHBISCBIHIT
HOL CUBIBBSI.

a. Geol1BGLmees b. wgsBsmiesst c. Gusdiess
d. 19riGenmiees e. alewL OHfNwaleenew

Choose the incorrect one

a. Project elephant - 1992 b. Project crocodile - 1975

c. Project Sea turtle - 1999 d. Indian Rhino vision - 2025

e. Answer not known

BT @amns CHIHEHG

a. Wmenentdell LMHISTIL HLL - 1992

b. wsmeser uTgIETIy H LD - 1975

C. &L60 QMGG LTHISTILY FHLD - 1999

d. @pHu STHILMOABBBISET LTSS H b - 2025

e. alomL GgMwalsdenso

Who was the first woman wild life photographer of India?

a. Radhika Ramasamy b. Narthaki Natarajan

c. Sowmya Swaminathan d. Vinisha Umashankar

e. Answer not known

@bFHwraler (pHed Guewr euen o ullfl LenslLL & SHemevehT WmiT?

a. grglem gmogil b. pissHE HLITME

c. GgemAwim FHeumlbTHes d. elefegr o wrgmisT

e. alemL OFflwalsdensv

India is the largest consumer of crude oil in the world

a. second b. third c. fourth

d. fifth e. Answer not known

AhHWT 2 05 Slenaled HFFT 6TeNIOewIUI LIWGTLBHSHSHID BTHSH6N 60 Quflw BTG
a. SyewiLmeugl b. cwpssipeug C. [BIGISTEUSI

d. mbsTeug) e. alewL Oxflwalsdenev

The term Biodiversity was introduced by

a. Norman Myer b. Melvin Calvin c. James Dasmand

d. Walter Rosen e. Answer not known

o uiflw ueLeUMBSHHETMD 61eTB  ClFTeLemeL DINSI(LPSBLILIBSHSUIGUT

a. [BTOEST LOWIT b. Gievaler Cmevalesr C. BGmgiberd L TervLDTEuITL
d. eumevLim Gymaes e. alewL OFflwaledenev

In troposphere the temperature decreases at per km above mean sea level
a.4.5°C b. 5.5°C c. 6.5°C

d.7.5°C e. Answer not known

LGymBumerdliwT  oibdbdle0 gymafung &L60 WL SHBGHOWD @abeum(h  &l.15&ELW0
aigpld Oeulilbd GHMBHMBSI.

a.4.5°C b. 5.5°C c. 6.5°C

d. 7.5°C e. ol Gxflwelsvensv
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121.  Which is the India’s first National Park?
a. Sundarbans b. Indira Gandhi National Park
d. Jim Corbett e. Answer not known
@hgwraler (pHed CHFAw LLRST 6157
a. &HbHSBTLIETEr0 b. @bFranpd CHAWILBIST
d. edsmiul e. alewL O flwaisveney

c. Bandipur
C. UbSILiLT

122.  Arrange the order of Initiation and conduction of heart beat

AV node — SA node — bundle of His — purkinje fibers

AV node — SA node — purkinje fibers — bundle of His

SA node — AV node — purkinje fibers — bundle of His

SA node - AV node — bundle of His — purkinje fibers

. Answer not known

HWSSlgLI| CHTBBID LBBID LFeBmev auflnslILGHSaD

AV sgn — SA sam — anfleverienn BBeny —> LTHeed smenm
AV sgm — SA san — UTdleed smenp — anflerveniesl sBens
SA e — AV san — UTdered speop —> anflervenden shenm
SA s — AV sanl — afflebenilelt s@BedB — UTdlered smenn
alenL  OFflwailsvensv

ran o

oo o

123.  Match the following
Menstrual cycle phase Days
A. Menstrual phase 1. 14t day

B. Follicular phase
C. Ovulatory phase

2. 15th - 28th day
3. 6th - 13t days

D. Luteal phase 4.1->5days
A B C D

a. 3 4 1 2

b. 4 3 1 2

C. 2 3 1 4

d 3 9] 1 4

e. Answer not known

QUTHSHHIB

orgelLmul spsd Henev [BITL_&B6IT

A. rgalimul Beneo 1. 141b Bmelt

B. ureds@eon Hlemev 2. 15 — 28 [mIL &6l

C. 9w b alBUBD Hlenev 3. 6 — 13 BI&eir

D. aum’ipuied mHlenso 4. 1 — 5 BIL&eI
A B C D

a. 3 4 1 2

b. 4 3 1 2

C. 2 3 1 4

d. 3 2 1 4

e. alewL OFMwealedensv

124.  Which of the following is called RNA virus?
a. Mumps virus b. Rubella virus
d. All of these e. Answer not known
Uesteumeuatoupmien slewal RNA  emaugerd oy@id?
a. LDIDLIGND emEUErd b. KOLeLeIT emauFerd
d. @mal HmaTISHSHID e. alewL OxfNwaledenew
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c. GumelGwim emeuyerd




125.

126.

127.

128.

32 | Page

The first transgenic cow produced human alpha lactalbumin protein enriched milk
which name is
a. Dolly b. Rosie

d. Bully e. Answer not known
el GevsLmeollelr GaTewi LIsFoanle WeHs uUTmen 2 MUSHEH OFUILD (P&He0 LOFLIUIEOL]

c. Ella

rBELIUC L ugeller GuuwiT GLD
a. Lmed b. Gymend C. 6T6uT
C. L6veVl e. alewL OFflweaisbensv

The development and maturation of platelets are called
a. Thrombopoiesis b. Erythropoiesis

d. Lymphopoiesis e. Answer not known
Or55dH S (BFHeMer euenTFd LBE@ID WPHTFHuienL 6y

a. gymbGurGumumuiglerd b. eflgGrmGumuienserd

d. ebGuTGumUIenierd e. alewL OHfNwealedenew

c. Leukopoiesis

oI SIMPSBLILBH MBS
C. aluy,sBasmGumuienierd

Match the following
Micro organism

A. Lactic acid

B. Citric acid

C. Gluconic acid

D. Butyric acid

Organic acid

1. Clostridium acetobutylicum
2. Mucor species

3. Chrysogenum

4. Rhizopus species

A B C D
a. 4 2 3 1
b. 2 3 4 1
C. 1 2 3 4
d. 3 1 2 4
e. Answer not known
QumTmSHIH
hlewTeuIU T & 6iT &M oiLflevld

A. eondigds  iflevd

B. Sl s oyudlevid

C. gendCastaid Silevld
D. Bw fs oudeoid

1. &lemmerol figuid SFI GLmuyl 196D
2. WwesT Fmpslerd

3. HenyBaredeunid

4. enyGamuerd FBpsesnd

A B C D
a 4 2 3 1
b. 2 3 4 1
C. 1 2 3 4
d 3 1 2 4
e. alemL OFfluaisdensv
Match the following
Immunological tests Diseases
A. Tourniquet test 1. Syphilis

B. Wassermann test
C. Rose-Waaler Test
D. Wayson stain test
E. Widal Test

2. Rheumatoid fever
3 Dengue fever

4. Typhoid

5. Plague
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A B C
a. 1 3 2
b. 5 2 3
C. 3 1 2
d. 3 1 5
e. Answer not known
QuTHSHHIH

Gpmul sewrLpslujd G gHemedei

. Gunireldlwl. Camgemen
aur&T@oest B ement
Ggmerv-eumevit GaFmaHement

MON W

mauLme0 Bagmgement
A B C
1 3 2
5 2 3
3 1 2
3 1 5

alenL  OFMuialeoemsv

oo op

N O = O g

Gougeir rOGILUIesT BFTEHEmeEN

N O = O g

N O N N e

Grruisel
1. fiederd

N N N - NI

RO LTUIGH STUIFFED
OLBIE STUIFFD
emL. .umui(p

L1Gerds

129.  Find the correct statements about virus

1. virus shows both living and non living characters.

2. They reproduce inside the host cells

3. They can be crystallized and stored for a very long time.

4. The metabolic machinery, cytoplasm is absent.
b. 1, 2, correct 3, 4 incorrect
d. 1, 2, 4 correct 3 incorrect

a.1,2,3, 4 correct
c. 1, 2, 3 correct 4 incorrect
e. Answer not known

emeugerd UBMlul Fflwmer eUTSHSILIBIGMm6T HeiBLIY.
1. eweugervdeir o ull(heiten WBMILD 2 ulgBp eTes @Jewi(B LWL Senenud CumimieTerer.

B

a.1,2,34 &
c.1,2,3, afl 4 sflwedev
e. alemL OFflualsvensv

130.  Match the following:
List -1
A. Monotrichous
B. Lophotrichous
C. Amphitrichous
D. Peritrichous
E. Atrichous

A B C
a. 2 3 4
b. 3 2 4
C. 2 3 5
d. 3 2 5
e. Answer not known

B = 01 01 g

mauTervgel ebLulifluller OFevselaneCen @6 IGILIHEBLOML SHBSH).
Bemaudemen LigHalgalled WH Hewll HTeOHIHMBESG MeUSHH(HdHdH (LPIQULD.
UTTHFenSHLOTBB  [HlaLpeysHeiT, maFL CLmienTad SrenrliLI(heusHe0ene0

b.1,2 &M 3,4 sfuwevev
d.1,2,4 s 3 sflwedev

e e 5

List II

1. Corynebacterium diphtheria
2. Vibrio cholera

3. Pseudomonas

4. E. Coli

5. Rhodospirillum rubrum
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QUTHSHHIH:

ugs - 1

ugs — 11

A. gmenps Hevgulenip 1. Gamflefl umdlefuwib ligfw

B. @® wwer sBedm senaulenip 2. eluf@uim smeoym

C. @m e sBoB SHmFulenip 3. @&BLrGwmentmerd

D. spmis smaulenp 4. o1. Gamemev

E. sewsuiempuibnpene 5. GymBLmerd emuifledeuld emHLITLD
A B C D E

a. 2 3 4 5 1

b. 3 2 4 5 1

C. 2 3 5 4 1

d. 3 2 5 4 1

e. alewL OFflwealsdenev

131.  Which of the following are Eukaryote?

a. Chlamydomonas b. Sargassum c. Yeast

d. All of these e. Answer not known

Uetteu(heuateuimien etemer WwCaMGuwim’ ou@Hwb?

a. &lenmolGLrGomenmerd b. git@rgid C. FrerOL

d. @wer SimensHHID e. alenL OQxNwelsvenev

132.  Match the following:
Medicinal plants Disease cured
A. Cinchona 1. Leukemia

B. Sarpagandha

C. Eucalyptus
D. Papaya
E. Nithya Kalyani

A B C D
a 2 4 3 5
b 2 3 4 5
C. 2 3 4 1
d 2 3 1 4
e. Answer not known
CUT(HS HIS:
LD(HSHBI6  HITEUTTRIBEIT
A. fGiGsmeut (071D
B. simiushbam
C. mmev 1OJID
D. udumerd
E. pléggw ssowment

A B C D
a 2 4 3 5
b. 2 3 4 5
C. 2 3 4 1
d. 2 3 1 4
e. alewL OFflwealsdeneo
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2. Malaria

3. Blood pressure
4. Headache

5. Dengue

Ul Ul R R

GeILGSHID Crruisel

S R T R SR

IS LwT
oGeorflum

5% SWHHD
HEMEVEUEV
OLrig
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133.

134.

135.

136.

Arrange the order

a. Atoms — molecules — organelles — cells — tissues — organs
b. Molecules — Atoms — organelles — cells — tissues — organs
c. Molecules — Atoms — cells — organelles — tissues — organs
d. Molecules — Atoms — cells — organelles — organs — tissues
e

Answer not known
aflengliILBHHaLD

S

PELBEFBIFHET  — DEISHET  —  OFOH6T  —  [HIWTR_BIUILSH6IT
— FF:dbBHel
e. alewL OFfwealsdemsv

Match the following:

Tissue Function
A. Parenchyma 1. Food storage
B. Chlorenchyma 2. Photosynthesis
C. Collenchyma 3. Protection
D. Sclerenchyma 4. support

A B
a. 1 2
b. 2 1
C. 2 1
d 1 2
e. Answer not known

QUT(HSHHIB:
S Liewl

A. unyeiensLom o ewia| CFLishzHe0

R W W A
W WA R

1.
B. @GenmyeiiensLom 2. ef&FCadbms
C. Gamevasiena®Lom 3. UT&HIBTLIL
D. evdlefyerension 4. o mIF&H60TenLD
A B C D
a. 1 2 3 4
b. 2 1 3 4
C. 2 1 4 3
d. 1 2 4 3
e. alewL OGFMwealedensv
Physiological effects of cytokinins in plant body are
a. Induces cell division b. Plant Morphogenesis
c. Growth of lateral buds d. All of these

e. Answer not known

STy 2 L 60amiseisy 2lFesvedaiseilar o L BoFuwed alemene|sel
a. OFebu@LienL GITewt (a5 einment b. sray 2 HaushGsTHmaiuied
C. UsbsaUTL (B OUom g6 eaueniTdFd] d. @mal SmAIHHID

e. alewL OFflwealsdeneo

Which ratio is constant for DNA?
a. A+G/T+C b. A+T/G+C c. A+C/U+G
d. A+U/C+G e. Answer not known
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137.

138.

139.

140.

141.

BauBpsled 61FHI 19.67681.6] alled 2 _6iTem HlewevwiTen aildFHLd
a. A+G/T+C b. A+T/G+C c. A+C/U+G
d. A+U/C+G e. alenL QxfNwelsvensv

In sperm acrosome produces hyaluronidase enzyme. The acrosome is modification of

a. Lysosome b. Ribosome c. Golgi apparatus

d. Mitochondria e. Answer not known

albal QFeveled aBWICITHIGLe samild OBTHMW SHFTHGD DHCITCFTID siHamienL wl LOTBILTH
a. emeuBam@amid b. engGuBsmid C. Gamevens 2 _mIliL

d. ewwor GLrBemesn” M e. alowL OFflweaisbensv

Which of the following facts are correct about prokaryotic cells

[. Prominent nucleus is absent

II. Nucleolus is present

III. Mitosis and meiosis cell divisions are takes place

IV. Enveloped cell organelles are absent

a. I and II are correct b. I and IV are correct c. Il and III are correct
d. Il and IV are correct  e. Answer not known

Weteupd LGmGa BB GgevseT uBBlW SnBmiBeiey Fflwmeramey eleneu?

L. Oxefleurenr o I & SHewLwimg)

II. PluysefiGuimeverd smemILGA B

III. ewwol Lrdled wBpid Wwnded GFedllflged Bl CLBISBSI

IV. sauaienmed @l L QF60 [HIewTamIMILILGH6T &lenLWITg)

a.l wpgp II gf b. 1 w@pp IV g c. IT g I &M
d. III wpgw IV & e. alenL QxfNwealsdensv

All of the following are bacteria except

a. Bacteriophage b. E.Coli

c. Lactobacillus subtilis d. Corynebacterium diphtheria
e. Answer not known

BaBBIeT almBsH HaIJ LOBBENeU 61606VTD LTHLefuITddHer

a. ursleuwmBuey b. e1.8&mem60

C. oo BLTBLeIeverd FLilgalerd d. srfremfliiursefluib gagfur
e. alemL OFfluaisvensv

Write the essential component mineral for the formation of chlorophyll.

a.‘a’ chlorophyll b. ‘b’ carotein c. Magnesium
d. Xanthophyll e. Answer not known

uFeaw BHBseT 2 BUSHSHEG ChHemeuwimer HeiwD 61&H17?

a. ‘a’ uFemaguwibd b. ‘b’ &Gy igemuIBeeit C. Gdbeafdluib
d. gmbGsm. 1060 e. alewL QFflwaledensv

Find the incorrect statement:

i. Carbon Sequestration: The simple technique is to preserve trees and plants more
ii. Trees take up CO2

iii. They break down COz in photosynthesis

iv. They do not store carbon in new wood

a.ionly b. iv only c. iii only

d. ii only e. Answer not known
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142.

143.

144.

145.

SHoupTer aUTdsHwHmS CHTHO\%H0H

1. &ITUET HNeMUBHHIHD: DHMBHTET 6TeMl (LpeMB  OJEIGemeN LIFTIDASHSHID, LHHTH
STAUTHRIBEN6T GUATTUILIGILD HT6or

ii. wymiset CO2 83 61BSHHIG OBTeNaaBent

iii. @ef&Bardemaulear cpeod CO2 2 2 el dbdleier

V. SluBens YUSIFLILGHserfle0 CaLoiliLglsvenev

a. 1wl B b. iv ol @B C. iii l_Bib

d. ii ot @b e. alewL OHfNwaleenew

Blood is formed in the human adult by the

a. Heart b. Spleen c. Red bone marrow
d. Yellow bone marrow  e. Answer not known

AUTTFFWMLHS ealHalal QTHHHMSH 2 (HeUTHE IS

a. ®zWwib b. wewreniyed C. falI eTIDL| LDEheF
d. wehFe eleuibl] WDEhewF €. alewl OHflwaledenev

Match the following:
a. Corpus luteum 1. Testosterone

b. Graafian follicle 2. Inhibidin

c. Sertoli cells 3. Theca interna

d. Leydig’s cells 4. Corpus albicans
A B C

2 1 3

4 3 2

1 2 3

3 4 1

e. Answer not known
QUT(HSHHIS.

a. SIMTUerd eI IQUILD

b. @y .west .".uneddbalein
C. Qam BGLT6l GFe0H6NT

d. 6Sigs QFevmei

oo o
N =g

QLerd@LmerbLe@mest
. BetaniLiligest

. SHHBT B)evTL TeorT
SITTLIGN S|V H6IT6r0

B

B
1
3
2

a0 oo
W N

C
3
2
3
1

N =g

4
e. alewL OFMwealedensv

What is the life of Red blood corpuscles?

a. 120days b. 220 days c. 400 days
d. 320 days e. Answer not known

Or55F el SiemISHHeMeT UTDHTL H6IT 616116166, ?

a.120 pr sen b. 220 prseir c. 400 B ser
d. 320 B el e. alewL OHfNwaledenew

Holandric genes are called

a. Carried by X chromosomes

b. Carried by autosomes

c. Carried by different parts of Y Chromosomes
d. Carried by X and Y Chromosomes

e. Answer not known
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Gammeomemwtl fld 2I6iIH6T TG DLGSLD.

a. X &GymGon@ambsenmed GFwWsOLIGSHISLILIBSBSI.

b. o' GLrBambsenmed GFWeILGSHLILBS MBS

c. ueBaupl UGHHelled o 6itenr Y GHGymGLomBaTb&eTe CFWOLIGHSLILIBHBSHI
d. X oppid Y &CynGurBambsented GFweLbSHSLILIGH MBS

e. alewL Oxfweailedensv

146. Match the following minerals with its deficiency symptoms?

A. Exanthema in citrus 1. Zinc

B. Hooked leaf tip 2. Copper

C. Little leaf 3. Potassium

D. Curled leaf margin 4. Calcium
A B C D

a. 2 4 1 3

b. 2 3 4 1

C. 3 2 1 4

d 1 2 3 4

e. Answer not known
CarGaHslILL Beten SHelmseaie LBBTEGmB ChTUl OIIEGSsHEnL 60T
QUT(HSHHIB:
A. Alged FTaursHHev eTeaThHALO
B. Qzréd Gumeiiz &emev e
C. dppleneo Cmmul
D. @mev alefiby S(mHeTHe0
A B C
2 4 1
2 3 4
3 1
3

BISSHTSLD
STLOFLD
Quim_Lm&luib
BmevdluLd

= Wl

2
1 2
allewL  OFflwaisdenev

N N

a.
b.
C.
d
e.

147.  Match the following:
a. Zoophily 1. Vallisneria
b. Hydrophily 2. Grass
c. Entomophily 3. Canna
d. Anemophily 4. Salvia

A B C
a. 4 3 2
b. 3 2 1
C. 1 2 3
d 3 1 4
e. Answer not known
SPHILUBEnB  CLIT(HSHSIS:
a. @. .Ued
b. enami Gym.".L96S
c. erewiLGuom.” .16
d. oe6wm. .1969

N =g

eumedlero@milum
L6

SH6LAITENLD
Fmeoelwim

o=
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148.

149.

150.

A
a

— W o o3

C D
3 2
2 1
2 3
4

ORI N

b.
C.
d. 3 1
e. allewL Ggflualsvenso

World’s First Malaria Vaccine

a. Mosquirix b. Bedaquiline c. Clofazimine

d. Cycloserine e. Answer not known

o oudlal (PpFHev Geuflwms HHLILS)

a. werv@fléer b. QuLT@meves C. @BenmumTsHSlenL6s
d. ewgsBenmoFiles e. alenL  Gzfweaisvensv

Which law is used to understand the structure and functions of heart and blood vessels?
a. Chargaffs law b. Dopler’s law c. Hardy Weinberg law

d. Laplace law e. Answer not known
®sWb WLBBID BJHSH BTeMhST BBl Sl BEID Lelsamenl Ufhg Glameen
2 _Zab alg)

a. gnean alg) b. Lmient alg) Cc. amnmy efer QuTd ald)
d. eomiBererd &g e. alewL O flwalsoeney

Which among the following is regarded as the leading cause of air pollution?

a. Agriculture b. Warfare

c. Mining and Construction d. Motor Vehicle Emissions

e. Answer not known

SLpSHEHemILUBBIeT SMBKlen TSUT. (Hdb@E OLfGID sSmyemiores QHUUSTES SHISLILIGISH 6157
a. GaueNTemTenLo b. Gumit wuljid

C. aafllD SymIGHIG6T WHBEID S Gomand d. aurser Lyws Geuefuib

e. alewL OHMwealsdensv
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